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Yrazes = 3.4607x + 14.874 30 | Yrazes = 3.4607x + 14.874
Rpyzs* = 0.9839 Riya2es? = 0.9839
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*Ta283 =TaAOS o ©Ta265 mTaPR1.1
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Relative quantity Relatifle quantity
3 3.4607x + 14.874
= . X+ x
¥ racar = 3.2513x + 14.977 30 | T
R racar® = 0.9930
§ 2 Rpaz6s° = 0.9839
Y razee = 3.4607x + 14,874 T 20
=3 g - =3. +12.
e 5 15 Yrepop = 3.3560X + 12.01
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Rrapoo® = 0.9908
#Ta26S uTaCAT| 5 #Ta26S =TaPOD
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Relative quantity Relative quantity
Y razss = 3.4607x + 14.874
R, =0.9839
Y rawrkvez = 3.1817x + 6.9923
rawrkys2” = 0.9874
©Ta26S mTaWRKY62
1 2 T 3 a4 s
Relative quantity
Gene R? Slope | E
TaWRKY49 | 0.9953 | 3.2927 | 101.2%
TaPIE1 0.9991 | 3.5782 | 90.3%
TaAOS 0.9887 | 3.4104 | 96.4%
TaPR1.1 0.9951 | 3.5210 | 92.3%
Ta26S 0.9839 | 3.4607 | 94.5%
TaWRKY62 | 0.9874 | 3.1817 | 90.3%
TaCAT 0.9930 | 3.2513 | 103.0%
TaPOD 0.9908 | 3.3560 | 98.6%
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